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Maria writes d number. It has the digit 4 in the hundreds place and
the digit 2 in the units place.

Which of these numbers could Maria have written?

5426 4652 4265 5462

Find the missing numbers.

3000 is one hundred less than

5000 is one hundred more than
—

6500 is one thousand more than

980 is one hundred less than
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Write the number that is 1 more than 9999.

Solve these number riddles.

(@)1 have _four;digi'ts. (b) | have fbur_digfts. -

'My units digit and my hundreds
‘digit are the same.

' am less than 9000.

| am more than 2500.

| am less than 3000.

My hundreds digit is 6. | am greater than 8000.

My tens digit is one less than

'My tens digit is 4.
my hundreds digit. |

'My hundreds digit is two more
‘than my tens digit.

My units digit is 0.
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